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1 fEO ngs {[EPN /N3 3/ 3 42. 80 8% ( 0.63)
2 ik 1 Tr—F=ALY /N3 2/ 4 42. 89 5%% ( 0.60)
3 s £3] (5PN /N3 3/ 5 44. 08 8#% ( 0.76)
4 [y EE (5PN /N3 3/ 4 45. 25 T#%  ( 0.69)
5 HH  KFE 5PN /N3 3/ 2 45. 96 65% ( 0.66)
6 FEME R PN /N3 3/ 6 46. 09 65% ( 0.68)
T HF B (5PN /N3 3/ 1 46. 25 3%k ( 0.55)
8 B THHS Ky < /N3 2/ 3 47.39 5#%% ( 0.61)
9 FEME  EHE TSSd X A8 /N3 2/ 5 50. 78 3%k (0.79)
10 JiEHE~ + SPH& IR /N3 2/ 2 51. 87 2%  (0.63)
11 gaARREET SPH4&:IR /N3 2/ 1 52.84 ( 0.56)
12 I EifF 5PN /N3 1/ 3 54.18 ( 0.74)
13 AASACHHE SPH&: IR /N3 1/ 4 56. 66 ( 0.79)
14 e SR SPH4IR /N3 1/ 1 56. 77 ( 0.69)
15 NHDO DX R B5SC /N3 1/ 2 58. 69 ( 0.73)
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